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efJe<eÙe : metÛevee ØeewÅeesefiekeâer
Subject : Information Technology

meceÙe : 3 Iebšs] [hetCeeËkeâ : 100
Time : 3 Hours] [Maximum Marks : 100

efveoxMe : (i) meYeer ØeMve DeefveJeeÙe& nQ~

All questions are compulsory.

(ii) ØeMve ›eâceebkeâ 1 ceW oes Yeeie nQ — (De) yengefJekeâuheerÙe ØeMve leLee Yeeie (ye) efjòeâ mLeeveeW keâer hetefle& keâerefpeS~

Question No. 1 contains two parts – Part (A) Multiple choice questions & Part

(B) Fill in the blanks.

(iii) ØeMve he$e Ú: KeC[eW ceW efJeYeeefpele nw~

Question paper is divided into six parts.

(iv) efveÙeceevegmeej ØeMve ›eâceebkeâ 12 mes 25 lekeâ kesâ ØeMveeW ceW Deebleefjkeâ efJekeâuhe efoS ieS nQ~

From Question Nos. 12 to 25, internal choice are given as per rule.

(v) Debkeâ keâe GuuesKe ØeMve kesâ meeLe efoÙee ieÙee nw~

Marks distribution is displayed with question.
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(KeC[-De)

(Part-A)

(ØelÙeskeâ ØeMve 1 Debkeâ keâe nw)

(Each question carries 1 mark)

ØeMve—1. (De) efvecveefueefKele ceW mes mener efJekeâuhe Ûegvekeâj efueefKeS : 1×5=5

(A) Select the correct option from the following and write it :

(i) Skeâ šerce kesâ ™he ceW keâece keâjves mes ............. keâes Dehevee keâece lespeer mes Deewj yesnlej lejerkesâ

mes keâjves ceW ceoo efceueleer nw :

(De) Jeer

(ye) Deme

(me) DeemexuJ]pe

(o) Ghejesòeâ meYeer

Working as a team helps ________ to do our work faster and better :

(a) We

(b) Us

(c) Ourselves

(d) All of these

(ii) CSS keâe hetje veece keäÙee nw :

(De) Compiled Spread Sheet

(ye) Cascading Style Sheet

(me) Compiled Style Sheet

(o) Cascading Spread Sheet

What is the full form of CSS :

(a) Compiled Spread Sheet

(b) Cascading Style Sheet

(c) Compiled Style Sheet

(d) Cascading Spread Sheet

(2)
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(iii) Envelope Dee@hMeve GheueyOe nw :

(De) Fvmeš&

(ye) hespe ues-DeeGš

(me) štue

(o) FveceW mes keâesF& veneR

Envelope option is available in :

(a) Insert

(b) Page Layout

(c) Tool

(d) None of these

(iv) Paste special keâer shortcut keâerpe nw :

(De) Ctrl + Alt + V

(ye) Ctrl + Alt + P

(me) Alt + V

(o) Ctrl + V

_______ is the shortcut key for paste special :

(a) Ctrl + Alt + V

(b) Ctrl + Alt + P

(c) Alt + V

(d) Ctrl + V

(v) SEO keâe efJemleej nw :

(De) System Enable Option

(ye) System Edit Option

(me) Search Engine Optimization

(o) None of these

(3)
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(4)
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Full form of SEO is :

(a) System Enable Option

(b) System Edit Option

(c) Search Engine Optimization

(d) None of these

ØeMve—1. (ye) efjòeâ mLeeveeW keâer hetefle& keâerefpeS : 1×5=5

(B) Fill in the blanks :

(i) FTP keâe hetje veece ................. nw~

Full name of FTP is ________.

(ii) SvJeueeshe DeesefjSbšsMeve ................. Øekeâej kesâ nesles nQ~

Envelope orientation are ________ types.

(iii) cesue cepe& efJepee[& ................. [^e@he [eGve cesvet hej GheueyOe nw~

Mail merge wizard is available in ________ menu.

(iv) ................. cesvet cesW heeFJeesš šsyeue GheueyOe nw~

Pivot table is available in ________ menu.

(v) WAMP ceW M De#ej keâe DeeMeÙe ................. nw~

The meaning of the letter M in WAMP ________.

(KeC[-ye)

(Part-B)

(ØelÙeskeâ ØeMve 2 Debkeâ keâe nw)

(Each question carries 2 marks)

ØeMve—2. šscheuesš keäÙee nw ?  2

What is template ?

ØeMve—3. Jesye meJe&j keäÙee nw ? 2

What is web server ?
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ØeMve—4. DeeJesove keäÙee nw ? 2

What is application ?

ØeMve—5. cew›eâes kesâ oes HeâeÙeos efueefKeS~ 2

Write any two advantages of Macros.

ØeMve—6. DeeF&.šer. keäÙee nw ? 2

What is I.T. ?

(KeC[-me)

(Part-C)

(ØelÙeskeâ ØeMve 3 Debkeâ keâe nw)

(Each question carries 3 marks)

ØeMve—7. heeFJeesš Ûeeš& keäÙee nw ? keâesF& oes ueeYe efueefKeS~ 1+2=3

What is pivot chart ? Write any two benefits.

ØeMve—8. SefvecesMeve keäÙee nw ? keâesF& oes ueeYe efueefKeS~ 1+2=3

What is animation ? Write any two benefits.

ØeMve—9. ØepeWšsMeve mee@HeäšJesÙej kesâ leerve HeâeÙeos efueefKeS~ 1+1+1=3

Write any three advantages of using presentation software.

ØeMve—10. ceeF›eâesmee@Heäš SkeämehesÇMeve Jesye keâer leerve efJeMes<eleeSb efueKeW~ 1+1+1=3

Explain any three features of Microsoft expression web.

ØeMve—11. mueeF[ š^ebefpeMeve keäÙee nw ? efkeâvneR oes š^ebpeerMeve kesâ veece efueefKeS~ 2+1=3

What is slide transition ? Write any two transition name.

(KeC[-o)

(Part-D)

(ØelÙeskeâ ØeMve 4 Debkeâ keâe nw)

(Each question carries 4 marks)

ØeMve—12. SEO keäÙee nw ? SEO keâjves kesâ oes HeâeÙeos efueefKeS~ 2+2=4

What is SEO ? Write two advantages of SEO.

DeLeJee / OR

keäueeFbš meJe&j cee@[ue keäÙee nw ? Fmekesâ oes HeâeÙeos efueefKeS~

What is client server model ? Write two advantages of it.
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ØeMve—13. efjJÙet keâe DeLe& keäÙee nw ? Skeâ [e@keäÙetceWš keâes mesJe Je MesÙej keâjves keâer Øeef›eâÙee keâes mecePeeFS~ 2+2=4

What is the meaning of review ? Explain the process of saving and sharing a

document.

DeLeJee / OR

cew›eâes keäÙee nw ? cew›eâes yeveeves keâer ØeefkeâÙee keâes mecePeeFS~

What is macro ? Explain the process of making macro.

ØeMve—14. št-[t yeej keäÙee nw ? št-[t yeej keâes keâmšceeFpe keâjves keâer Øeef›eâÙee keâes mecePeeFS~ 2+2=4

What is To-Do bar ? Explain the procedure to customize To-Do bar.

DeLeJee / OR

kewâuesC[j keäÙee nw ? kewâuesC[j meeFpe keâjves keâer Øeef›eâÙee keâes mecePeeFS~

What is calender ? Explain the procedure to share calender.

ØeMve—15. mueeF[-Mees efkeâmes keânles nQ ? Skeâ mueeF[ keâes efveefMÛele meceÙe ceW Dee@šescesefškeâueer efjheerš keâjves keâer

Øeef›eâÙee keâes mecePeeFS~ 2+2=4

What is slide show ? Explain the procedure to change the slide automatically

after a specific time.

DeLeJee / OR

[e@keäÙetceWš DeeGšueeFve keäÙee nw ? ØepeWšsMeve kesâ ™he ceW Skeâ [e@keäÙetceWš DeeGšueeFve megjef#ele keâjves keâes

mecePeeFS~

What is document outline ? Explain save a document outline as a presentation.

ØeMve—16. IRM keäÙee nw ? IRM kesâ ueeYe efueefKeS~ 2+2=4

What is IRM ? Write benefits of IRM.

DeLeJee / OR

Skeämesme efjefmš^keäMeve keäÙee nw ? mØes[Meerš PDF [e@keäÙetceWš keâes keâe@heer Ùee eEØeš keâjves mes yeÛeeves keâer Øeef›eâÙee

keâes efueefKeS~

What is access restriction ? Explain the procedure to protect a spreadsheet

PDF document from being copied or print.

ØeMve—17. mebef#ehle efšhheefCeÙeeB efueefKeS : 2+2=4

(De) øesâce

(ye) uesÙej

Write short notes on :

(a) Frame

(b) Layer
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DeLeJee / OR

mebef#ehle efšhheefCeÙeeB efueefKeS :

(De) nesJej FHesâkeäš

(ye) Jeešjcee@ke&â

Write short notes on :

(a) Hover effect

(b) Watermark

ØeMve—18. [eÙevesefcekeâ Jesye hespe keäÙee nw ? Fmekeâer efJeMes<eleeSB efueefKeS~ 2+2=4

What is dynamic web page ? Write its characteristics.

DeLeJee / OR

S[-Fvme keäÙee nw ? Fmekeâer efJeMse<eleeSB efueefKeS~

What is add-ins ? Write its characteristics.

(KeC[-F)
(Part-E)

(ØelÙeskeâ ØeMve 5 Debkeâ keâe nw)

(Each question carries 5 marks)

ØeMve—19. mueeFmeme& keäÙee nw ? mueeFmeme& kesâ GheÙeesie keâjves keâer efJeefOe efueefKeS~ 2+3=5

What is slicers ? Write the method of using slicers.

DeLeJee / OR

mØes[Meerš ceW š^seEkeâie keäÙee nw ? mØes[Meerš ceW š^^seEkeâie keâes Fvesyeue keâjves keâer Øeef›eâÙee keâes efueefKeS~

What is tracking in spreadsheet ? Write down the process to enable tracking

in a spreadsheet.

ØeMve—20. neÙehejeEuekeâ keäÙee nw ? mØes[Meerš hej neÙehejefuebkeâ yeveeves keâer Øeef›eâÙee efueefKeS~ 2+3=5

What is hyperlink ? Explain the process of creating hyperlink in spreadsheet.

DeLeJee / OR

Jeke&âyegkeâ keäÙee nw ? mØes[Meerš keâes cepe& keâjves keâer Øeef›eâÙee efueefKeS~

What is workbook ? Explain the process of merging spreadsheets.

ØeMve—21. ef[efpešue meeFve keäÙee nw ? [e@keäÙetceWš ceW ef[efpešue meeFve keâjves keâer Øeef›eâÙee keâes mecePeeFS~ 2+3=5

What is digital sign ? Explain the procedure to digitally sign in a document.

DeLeJee / OR

heeFJeesš šsyeue keäÙee nw ? mØes[Meerš ceW heeFJeesš šsyeue yeveeves keâer Øeef›eâÙee keâes efueefKeS~

What is pivot table ? Explain the procedure to create a pivot table in a

spreadsheet.
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ØeMve—22. ØespeWšsMeve mee@HeäšJesÙej ceW mceeš& Deeš& keäÙee nw ? Fmekesâ GösMÙeeW keâes efueefKeS~ 2+3=5

What is smart art in presentation software ? Write purpose of smart art.

DeLeJee / OR

mueeF[ š^ebefpeMeve keäÙee nw ? mueeF[ š^ebefpeMeve kesâ GösMÙeeW keâes efueefKeS~

What is slide transition ? Write purpose of slide transition.

ØeMve—23. [e@keäÙetceWš ceW efkeâS ieS heefjJele&ve keâes mJeerkeâej Je DemJeerkeâej keâjves keâer Øeef›eâÙee keâes mecePeeFS~ 5

Explain the process to accept and reject changes made to a document.

DeLeJee / OR

[e@keäÙetceWš keâes cepe& keâjves keâer Øeef›eâÙee keâes mecePeeFS~

Explain the procedure to merge documents.

(KeC[-Heâ)
(Part-F)

(ØelÙeskeâ ØeMve 6 Debkeâ keâe nw)

(Each question carries 6 marks)

ØeMve—24. cesue cepe& keäÙee nw ? cesue cepe& [e@keäÙetceWš ceW ueeiet keâjves keâer Øeef›eâÙee efueefKeS~ 2+4=6

What is mail merge ? Write the procedure to apply mail merge in document.

DeLeJee / OR

uesyeue keäÙee nw ? Skeâ eEmeieue [e@keäÙetceWš ceW 30 uesyeue eEØeš keâjves keâer Øeef›eâÙee mecePeeFS~

What is label ? Explain the procedure to print 30 labels in a document.

ØeMve—25. mesue S[^sme keäÙee nw ? Skeâ mØes[Meerš ceW efkeâmeer efJeefMe° mesue keâes megjef#ele keâjves keâer Øeef›eâÙee keâes

efueefKeS~ 2+4=6

What is cell address ? Write the procedure to protect a specific cell in a

spreadsheet.

DeLeJee / OR

heemeJe[& mes Deehe keäÙee mecePeles nQ ? Skeâ mØes[Meerš keâes heemeJe[& mes megjef#ele keâjves keâer Øeef›eâÙee keâes

efueefKeS~

What do you understand by password ? Write the procedure to protect

password in a spreadsheet.

——


